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1 ITETETTEeED M

1| SOHX] 4]

17189 $olX| wlald Aauls =51 44 S 7908 ddro
1574 A48%) 2713 337U8AY

« SotX| ATt SH|(M/ot2]): (117) 871 — (18) 941 (8.1%)

] &9 nEgyd ¢4 AdEY 2%k AT 219HA Y
o2, A ASH7E YRGS A4 1.6%p) F53HE 719
C AR Kbz Su|(RE/atal): (17) 627 — (18) 698 (11.4%)

A

« SOFX| MX|ZHA(M /2 6~770& ot2l): (117) 2,919 — (18) 3,130 (7.2%)

[E 1] $o1x mhelg Aate] @ 994 S vhel 594

(H91: 091/ vl )

ZObx| A k| steslAle Foly
T =i Z 49| | 2dHIH| | AI=2H]| e — eatgel
%4 %4 H Al A._I'H ST A = = -+ = =T =
|| 4du ] T (b) © | (ab) | (ac
17 (A) 2,164 3,225 2,563 1,565 2,329 998 234
18 (B) 2,212 3,378 2,762 1,682 2,548 1,080 214
B-A 48 154 199 117 219 82 =20
&
% 2.2 48 7.8 75 94 8.2 -8.6
(23 1] $obA mhelF Aad 8 @99 me 7 $94
ZEY| il i ] e—te— R o0 (che] - HE)
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B-A 76 88 545 633 735 -87 -189
=7t
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17189 SA kg® A= ALEAbE Aeos AJRT 259(2.0%)
=7}k 1,262

« S AFR742(Kg/1000}2)): (17) 224.6 — (18) 229.1 (2.0%)
1183 §A4 wEg «FYgL SANE oz FFUc] E9
AERY 289 74T 1214
< 82 Zoj7bH("kg): (17) 3,024 — (18) 2,836 (-6.2%)

[ 7] 87 kg A ohelR o4
(99): e/kg, A/mHE])

SH ML SH F=odN
T =2 =~ = = | ==
g8l | add| _5(;)%! : (%Hl AF(:TC)tII ?\e_l—b;) _fa_fcg!
17 (A) 1,179 1,237 1,946 1,712 1,797 234 149
18 (B) 1,204 1,262 1,968 1,763 1,847 205 121
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£ ofX
ot Z o b 2361 2373 2,360 2127 2212
(M &l/okz])
A AL 5,043 4179 3,602 2,984 3.378
o2 Or2.
3= 22|£+| 20~49 | 50~99 1O§|L' B @
S =N K==
THRT gy 983 963 962 938 955
(&1 21/100kg)
M Ab 1,088 1.175 1.101 1.012 1.106
o2 Ot
a2 Zglé' 20~49 | 50~99 10&;' o 7
=T A o 682 579 543 497 554
(M 21/100kg)
M Ab 996 745 653 550 686
oLz O
fe | 0w | w0 | 00 | wa
T A oA b 69,786 65,970 65,962 62,99 65,034
(&1/100 ¢)
Ay AL 91,799 81,856 78,940 71,600 77.502
= o | n000BFRRI | Ta00~ | 2000~ | 3oooskEl |,
o| gt 1,999 299 o| At <
H S =
= A o 318 295 055 260 272
(A 24/100ks)
M Ak 351 313 266 268 284
— o |200005f2] 20000~ | 40000~ [800008FRl|
o| ot 39,999 79,999 of A < =
a}
A E A o 11,319 8,480 9,699 8,249 8,683
(?4/1007H)
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~ o |300008ial] 30000~ | 50000~ [70,0008F2 |
o| ot 49.999 69,999 0] At S =
S A
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(21/10kg)
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2. TTEE 44

10ot2]

500}2]

e e ol 10~29 | 30~49 ol Al o
wale | B 2970 2810 2768 2732 2762
(MepoR) | & = 1,116 1,055 1,094 1,080 1,080
Z5e0) ~038 ~064 205 425 214

e Re | 20 20-49 | s0-09 10&15‘ " m=
see | S+ 8,016 8276 8.410 8,463 8,350
(mMepolR) | ~ = 712 927 1,065 1,319 1,088
Zseof 1,549 -685 1 750 57

7o | PO w40 | om0 | OOF | omom
= T | 53¢ 4,431 4,269 4,477 4,621 4,503
i P ~63 207 507 871 467
250 ~2.420 ~950 -303 471 ~492

re | 00 s0-e0 | 70~9 10315‘ ' ma
LRI 9,555 0,842 9,897 10,490 10,116
e PN 3,207 3,604 3,650 4,281 3,875
Z5e0) 1,286 2179 2 481 3474 2736

o 1,03?;:& 11088); 2288; s,og(l)gal o =
AlsE 1 sy 380 372 372 370 372
HERE) | = 17 39 84 73 63
Z5e0) ~20 19 71 64 48

o 20,0Do|cl);+a| zggf);g; 4(;5(3;;; 80,%olgjral o =
SHEA | x a0 07 489 31,664 22 695 26,480 06,247
@ml) |, = 3279 3130 ~4,783 437 413
250 -8.268 516 6,337 -390 1,668

-0 30,0D0|c§+a| 3259;;; 52;90,(3;;; 70,%o|(2;+a| g =
= A | a4 23,172 20,462 19,600 18,942 19,682
@haoml) | . = 4611 2,096 2621 1,450 2054
250 2737 1,009 1,647 861 1,208




(291 W)
: : AL 72 H(18) EUE (%)

S o [ 7ooral 10~29 | 30~4g | S00FEI [ & Z [T
o| ot o| AF (©) (%) cla c/b
o Al = H] 1,447 1,504 1,458 1,521 1,577 1,511 1,519 | 445 5.0 1.0
- STAR 948 995 906 941 969 946 946 | 27.7| -02| -49
- = AR 466 483 518 548 557 536 540 | 158| 158| 118
- TMRALRZ 32 26 35 32 51 29 33 1.0 23| 242
o &g 51 55 77 77 65 52 59 1.7 147 7.9
o HHXZH| 46 47 62 52 50 40 44 13| -40| -57
o XS A 43 38 96 79 61 36 50 1.5 159 295
°© & 7T H 170 170 272 214 221 171 190 56| 11.8| 123
o Al 131 132 209 191 148 122 141 4.1 7.9 6.7
o 7Bt 2H] 62 65 70 77 57 64 66 1.9 5.2 1.0
°cZFE 52 51 60 57 58 46 50 1.5 27| -08
o At =0[At 50 40 23 37 52 40 40 12| -19.2 1.2
o EXUXE 18 10 13 17 16 11 13 04| -30.8| 238
o Nt 25 23 10 11 11 29 22 07| -104| -33
o F=X2[H| 9 11 9 10 13 7 < 03| -24| -194
o YikgtelH| 19 22 28 26 27 18 21 06| 106| -46
o 7|EHIE 18 19 33 32 38 16 23 07| 274| 164
= Al A 2,141 2,187 2,420 2,401 2,394 2,162 2,248 | 65.8 5.0 2.8
A7t e SH] 820 871 2,435 1,553 1,010 644 941 | 276| 147 8.1
A= & A 170 163 205 210 191 183 192 56| 125| 174
EX|EAH]| 30 27 41 43 42 29 34 1.0 11.8| 264
g2 A B 3,162 3,248 5,102 4,206 3,637 3,019 3,414 | 100.0 8.0 5.1
FoETRO 41 23 59 28 34 35 36 -140] 530
4gH[(A-C) 2,100 2,164 2,361 2,373 2,360 2,127 2,212 53 2.2
42| (B-C) 3,121 3,225 5,043 4,179 3,602 2,984 3,378 8.3 4.8
HAE(%) 74.3 720 76.6 73.1 69.9 76.4 742 -0.1 3.1




O 292 ASH (nhe] )
(F$]: ")
, , Ab 2 7= o8(18) SUE(%)
T = 10 17 10o}2] s50oi2] | H & | 7AH|
(@) (b) ol at 10~29 | 30~49 o[ AF © ) cla c/b
o AL 2 H[| 1076| 1,075 1,117 1,112 1,103 1,155| 1,188 | 447| 58| 58
- SFAR 705 711 694 688 678 723 709| 278| 05| -03
- X AR 347 345 397 400 389 410 405| 159| 166 172
- TMRALZ 24 19 26 23 36 22 24| 10| 27| 290
o FEAH| 38 39 59 56 45 40 44| 17| 151 122
o Hoix| ZH| 34 34 47 38 35 30 33| 13| -36| -16
o XS] 32 28 73 58 42 28 37| 15| 162| 331
o & T d 127 122 208 157 155 130 142| 56| 123| 171
0 P AlMH| 97 95 160 140 103 93 106 42| 84| 107
o 7|EtX| 2H| 46 46 54 57 40 49 49| 19| 60| 58
o Z 8B =2 38 36 46 42 41 35 38| 15| 22| 36
o Xt Z0|%} 37 28 17 27 37 31 30| 12| -187| 64
o EX|XIE 14 7 10 13 11 8 10| 04| -30.7| 288
o DL EH| 18 16 8 8 7 22 17| 07| -85| 33
o ELxa|H| 7 8 7 8 9 6 7| 03| -24]| -160
o MAptz|H| 14 16 22 19 19 14 16| 06| 109| -07
o 7|EfH|E 13 14 25 23 26 12 17| 07| 267| 200
e 1593 1,565 1,853 | 1,755 1,674 1652| 1682| 660| 56| 75
X7t EH| 610 627 1,865 | 1,135 706 492 698 | 274 146| 114
N L 127 117 157 153 134 140 142 56| 123] 210
EX| 29| 23 19 32 32 29 22 25| 10| 120| 314
g A 2,351 2,329 3907 | 3074| 2543| 2307| 2548| 1000| 84| 94
) A vhEld AASHE FEld(18.1.1.~1231) 7I1HE FHE B &S A4S
O #9348 $94 (718 7)
(9 d9)
, , AL S 7R #(18) SUE(%)
T = 10 7 10o}2| 5002 H
(@) (b) alat 10~29 | 30~49 o[ AF © cla c/b
oEFTAN 2617 2563 2970 2,810 2,768 2,732 2,762 55 78
- FAESY 2554 2528 2,881 2,747 2,676 2,675 2,697 5.6 6.7
- S0fX| Ehoj 2073 2104| 2,363 2,301 2,216 2,276 2,276 9.8 8.1
‘oo 2 Ehol 480 423 518 446 460 399 422 -122| -04
- BAEgel 31 17 45 20 24 27 26| -14.1 57.7
| o 31 17 45 20 24 27 26| -14.1 57.7
- 7|E} ¢ 33 19 44 43 68 30 39| 168| 1045
o tH|(B) 1593 1565| 1,853 1,755 1,674 1,652 1,682 5.6 75
o AFSH[(C) 2,351 2,329 | 3,907 3,074 2,543 2,307 2,548 8.4 94
o &5 (AB 1,025 998 | 1,116 1,055 1,094 1,080 1,080 54 8.2
o £32(A0) 266 234| -938 -264 225 425 214| -194| -86




U 8l S5
O #9159 A4 (AA 100kg™)
(@) B9
, , Al & 7 B H(18) SLUE(%)
R (1;)3 (g 20082l | 50 g | sp~gg |100CHE| B o FEEl o
o ot oltt | (@ | (4
o 7t = ul| 387 so4| a8 431 435| 46| 452| 407| 169| 148
oAb 2 Bl| 383 377|  a02|  413|  420| 3s2|  389| 351| 16| 33
- =EAR 058 47| o78|  253|  239|  240|  248| 223| -40| 03
-z AR 52 51 74 71 % 48 68| 62| 323| 33
- TMRALZ 73 78 50 89 85 64 73| 66| -03| -67
o FTed| 8 0 5 2 1 8 11| 10| 270| 68
o greix| 2| 4 4 8 6 3 8 6| 06| 507| 395
o RHEH| 6 6 13 8 5 4 6| 06| -50| 00
o = T Hl 26 29 45 37 07 24 0| 27| 52| 59
o o =AM o1 23 41 29 24 17 o5 22| 184 59
o 7|Et 21| 2 3 8 14 9 3 13| 12| 105| -30
o xtelZolxt 9 9 8 7 9 1 9| o8| 46| -19
o EXYitE 1 1 1 1 1 0 1| 01| -412| -354
o D8-S 6 7 4 1 7 0 71 os| 131] -67
o HEmHalt] i 2 i 3 1 1 2| 01| 351| -123
o MArmz|H] 5 5 6 5 4 3 4l 04| -113] -124
o 7|EtH| 8 2 3 8 4 9 2 5| 04| 1238] 902
~ A @ 871 82| o8| 99| 95| 40| 959| 864| 10.1| 87
R S| 101 10| 27| 175|103 a|  118] 106| 62| 7
R g ofu| o5 2 30 27 26 24 6| 23| 55| 155
£ x| go| 5 7 9 0 9 4 8| 07| e44| 155
) 1001 1021| 1204| t1182] 1103 1014| 1110| 1000| 109| 87
EVNERNe) 5 3 5 7 2 2 4 209|150
2248](A-C) 866 79| 93| 93| 92| 938| 955 03| 87
M AH|(B-C) 996 | 1018| 1288| 1175 1101| 1012| 1,106 11| 87
oAk | 746 751|  739| 758| 781| 760| 757 15| 08




O @&$w)

S g (v D)

(gl W9

= 2 | ° 7 o A e BT T
N (@) (b) ajor | 20749 50~99 | 07 S | ey | oA | b
o b & wu| | 285| 298| 3092| 3265| 3312 3692 | B8424| 407| 187| 158
o Ab B H| | 2857| 280| 2972| 3129 3198| 2680 2948| 351| 32| A4f
- s%AR [ 1,924 1855| 2057| 1919| 1,823| 1,823| 1,876| 223| 25| 1.
-z Ab 2| 38| 87 547 | 537 730 38| 519 62| 343 341
- TMRALZ | 547|588 38| 674 645 489|  558| 66| 12| -60
o FEHy| 63 76 112 91 85 64 81| 10| 289| 76
o woix| 2| 31 34 61 42 23 61 47| 06| 530| 407
o A& x| 48 45 93 60 36 28 46| 06| -36| 08
o & T 197 216 335| 280 206 183| 280 27| 170| 67
o AsAlMu| 55| 175 304| 222 179 132 187 22| 202| 638
o 7|EtM 2| 87| 100 133 103 72 99 98| 12| 121] 22
o AUZOIR| 64 69 58 50 65 83 68| 08| 62| -1
o EX|elxtzE 8 7 4 10 8 0 5 01| -404| -349
o nB=EuH|| 43 53 27 10 51 79 50| 06| 148| -6.0
o 2xalH| 8 13 9 23 9 7 11| 01| 37.2| -118
o Mutztals| 34 34 45 35 30 23 30| 04| -99| -116
o 7|EtH| 8 16 19 58 29 71 2 36| 04| 1273] 917
2~ A 6496| 6620 7303 7349| 7345 7144| 7262| 864| 118| 95
A7} S| 756 825| 1973|1331 786 38|  891| 106| 179| 80
A g | 184 169 218 202 200 185 197 | 23| 74| 165
EX| g | 34 49 70 79 68 34 57| 07| 669| 165
E 7470| 7672| 9565| 8961 8399 7710 8406| 1000| 125| 96

O #$98$ S04 (v

(9 M4

o | e 17 | o AL S TR '11%0)DPEI - SLE%)
| @ (b) ajer | 20749 | 50~99 | "o, "o | & | db
oE5A M | 8458| 7805 8016| 8276| 8410  8463|  8350| -1.3| 7.0
- geuigemol| 8381| 7737| 7890| 8157|  8315| 8446| 8276| -12| 70
- R 38 23 39 50 18 15 27| -289| 159
- 7|ERrl 40 45 86 70 77 2 47| 170| 42
ode|(®) | 6496| 6620 7303| 7,349| 7345| 7,144| 7262| 118| 95
oArgH[(C) | 7470| 7672 9565| 896 8399| 7710  8408| 125 96
ot S(AB | 1962| 1,176 712 97| 1065| 1319 1088 45| 74
0T FAQ 988 | 133| 1,549 -685 11 752 -57 - -




o} &9

0 %%

] (YA 100kg)

AL S 7R E(18) SLE%)
N (S (1b7) 20ot2] foootal | & 7 | A
o|ot 20~49 | 50~99 o| AF ©) (%) cl/a c/b
o7t &= H 77 72 89 84 84 88 87| 127 123| 207
oAb B | 348 348 435 368 354 339 365| 532 48 4.9
- STAR 287 286 352 293 288 281 298 | 435 3.9 4.2
- AR 40 39 68 51 48 38 48 69| 190| 223
- TMRALR 21 23 14 24 18 20 19 28| -95| -162
o Tt 9 12 18 13 11 9 12 1.71 333 1.1
o AR =H]| 4 5 8 6 6 4 6 08| 269 2.5
o At & At H| 5 4 12 6 4 3 5 0.8 74| 259
°cs T H 20 24 42 33 30 13 24 35| 207 1.9
o FEAldH| 16 19 34 25 19 12 20 29| 269 5.5
o 7|EfX =8| 10 12 11 14 12 9 11 1.6 76| -87
o A =O0[At 12 11 11 10 10 3 7 1.0] -45.8| -40.9
o EX[YRIE 1 1 0 5 0 1 1 02| -179| 303
0 NE-3H] 8 9 4 6 6 14 10 14| 186 5.1
o B a|d| 2 2 6 3 2 0 2 03| 124 -135
o ikt 3 3 6 4 4 2 4 05| 244 6.3
o 7| EtH| & 2 3 7 3 1 1 3 04| 389| -11.0
=~ A A 518 525 683 581 543 497 555 | 80.8 7.2 5.7
A7t e SH| 87 112 283 144 97 37 12| 164 | 298| -0.1
A= & 12 12 26 17 11 14 16 24| 39.7| 408
EXE9H]| 7 8 6 4 2 2 3 05| -49.8| -59.5
g A B 623 657 998 747 653 550 687 | 100.0| 103 4.5
FL=E(C) 1 1 2 2 0 1 1 -70| -11.5
4gH|(A-C) 517 524 682 579 543 497 554 7.2 5.7
4 2H((B-C) 621 656 996 745 653 550 686 10.3 4.5
THofAlH S(kg) 722 731 687 699 732 754 27 08| -04




O %% A%8 (@)
(@91 A9)

I N E 7 E A ESTE A

T 5 (a) (b) 22?5' 20~49 | 50~99 1 0(? lzﬂl g(o)ﬁ :r::i;' | cla c/b

o 7t = H| 559 526 614 585 616 662 633 12.7 13.2 20.2
o Al = H 2,515 2,543 2,984 2,574 2,593 2,553 2,656 53.2 5.6 45
- SFTAR 2,075 2,092 2,416 2,050 2,104 2,121 2,171 435 47 3.8
- X AR 289 285 469 357 355 285 347 6.9 20.0 218
- TMRALZ 151 165 99 168 134 147 138 2.8 -88| -16.6
o T ad| 64 85 126 92 78 67 86 1.7 34.3 0.7
o x| ZH| 31 39 56 45 41 31 40 0.8 27.9 2.0
o A= AtH| 36 31 79 40 26 24 39 0.8 83| 254
o & T H] 145 174 289 228 219 95 176 35 21.6 15
o YsAlAMH| 112 136 231 178 142 92 143 29 279 5.0
o 7|EtXj ZH| 72 86 79 99 88 69 78 1.6 85| -9.1
o At ZO|A} 87 81 76 69 74 20 48 10| 454 | -411
o EX|AE 10 7 1 38 3 4 8 02| -17.3| 296
o IEL=H| 58 66 29 45 41 105 70 14 19.6 46
o E=xeld] 14 18 44 19 13 3 16 0.3 13.3| -13.9
o MitzEe|d] 20 24 41 28 27 18 26 0.5 25.4 58
o 7|ElH|E 13 21 45 22 10 7 18 04 399 -114
A~ A 3,737 3,837 4,694 4,062 3,970 3,750 4,036 80.8 8.0 52
A7t SH| 624 821 1,944 1,006 709 277 817 16.4| 30.8| -05
A2 | 84 84 175 120 83 104 118 24 40.8 40.2
EX| 89| 48 60 38 31 18 18 24 05| -494| -59.6
g A 4,493 4,803 6,851 5,219 4,780 4,150 4996 | 100.0 1.2 40

0 %% +94 (%)

(@9): A

1 NN N ESTENCA

T @ | o | a0 | so-ee | U B E g |
o T ¢ (A 4,319 3,850 4,431 4,269 4477 4,621 4503 43 17.0
-8 2 @ o 4208 | 3831 4,411 4233 | 4471 4613|  4489| 44| 172
- 2= 8 8 12 16 0 4 7| 63| -11.9
- 7| et 13 10 8 20 5 3 7| -444| -283
o 2wty (B) 3737| 3837| 4604| a0e2| 3970 3750 40%6| 80| 52
o AL H|(C) 4,493 4,803 6,851 5,219 4,780 4,150 499% | 11.2 4.0
ox = (AB | 82| 13| 263 207 507 871 467 | 197 [3607.4
ox T 2 (A-C) -174 -953 2,420 -950 -303 471 -492 - -




(=) S

0§ A4 (100 2 2)

(9 )

Ab & o 2 H('18) SHE%)

T = (1816)3 (g SUElE, 50~69 | 70~99 e I e R c/a c/b

o| ek 0| & (c) (%)

oAb 2 H| 44806 | 44,223 | 46,466 | 44970 45016 | 42825| 44,157 | 547| -14| -01
- SFARE 18,090 | 18,082 | 18310| 14,726 15834 | 19,139| 17,510 21.7| -32| -32
- ZAME 12,089 | 12,055 10,900 9,026 8,929 | 13,024 | 11,102| 13.7| -82| -79
- TMRALZ 14,627 | 14,086 17256 | 21,218| 20253 | 10,662 | 15545| 19.2 6.3 104
o T L] 1,277 1,375 1,662 1,453 1,491 1,377 1,452 18] 137 5.6
o x| ZH] 1,832 1,858 2,094 2,013 2,299 1,861 2,024 25| 105 8.9
o At Z At H| 395 343 627 444 487 332 425 0.5 76| 239
o5 T H 3,904 4,065 4,775 4,028 3,800 3,139 3,643 45| 67| -104
o FzAlMH| 1,898 2,034 2,614 2,119 2,237 2,046 2,175 27| 146 6.9
o 7|EfM =H| 968 1,083 1,253 1,200 1,241 1,061 1,152 141 190 6.4
co&E 7 B 698 760 594 735 722 806 748 0.9 72| -16
o R+l =0[At 1,123 1,281 1,956 995 675 881 976 121 —-13.1| -238
o EX|YAR 180 143 91 90 144 81 99 0.1| -450| -30.8
0 N&-ZH] 1,754 1,869 616 1,428 1,666 2,544 1,914 24 9.1 24
o ==X zalH| 309 297 179 506 304 286 312 0.4 1.0 5.1
o Makge|H| 706 821 901 875 711 789 796 1.0 127 =30
o Jt=Ea] 7,806 7,993 8,605 8,369 8,337 8,012 8,222 | 10.2 53 8.3
o 7| EtH| & 277 256 304 286 209 202 229 03| -17.3| -10.5
~ A A 67,933 | 68,001 | 72,737 | 69,511 | 69339 | 66,242 | 68,324 | 846 0.6 0.5
At SH| 9,899 | 10,300 | 20,270 | 14,243 | 11,503 6,929 | 10,844 | 134 9.5 53
A= E A H| 1,088 1,021 1,341 1,336 1,251 1,429 1,355 1.7] 245| 327
EX|EHH| 402 353 402 307 224 246 269 03| -33.1| 238
2 A B 79,322 | 79,675 94,750 | 85397 | 82317 | 74,846 | 80,792 | 100.0 1.9 1.4
FLEFRIO) 3,369 3,002 2,951 3,541 3,377 3,246 3,290 -2.3 9.6
4 dH|(A-C) 64,564 | 64,999 | 69,786 | 65970| 65962 | 62,996 | 65,034 0.7 0.1
M ¢te](B-C) 75953 | 76,673 | 91,799 | 81,856 | 78,940 | 71,600 | 77,502 2.0 1.1
ol SRR 2) 9,109 9,100 8,727 8,974 9,008 9,373 9,134 0.3 0.4




0 3

A (P )

(29 2 9)
Ab S 72 E(18) EUE(%)
T = 1 i 500t2 1000kl | ® 7 | A
= (a) (b ~ ~ em TS
) oo | 5069 | 70~99 | " © oy | o | cb
oAb B H] 4081 4024 4055| 4035| 4055| 4014] 4033] 547] -12] 02
- sEAE | 1648| 1646 1598| 1,321 1426 1,794| 1599| 217| 29| -28
- = AL E | 1,001 1,097 951 810 804 | 1221 | 1014| 137| -79| -76
- TMRAKZ | 1332| 1282| 1506| 1,904| 1824 999 | 1420| 192| 66| 108
oAy 116 125 145 130 134 129 133| 18| 140| 60
o ghod x| 2 H| 167 169 183 181 207 174 185| 25| 108| 94
o A+ x| 36 31 55 40 44 31 39| 05| 78| 243
o0& T 356 370 417 361 342 294 33| 45| -64| -100
0 P =AMy 173 185 228 190 202 192 199| 27| 148| 73
o 7| Ebxj 2| 88 99 109 108 112 99 105 14| 193] 67
0oF B 7 64 69 52 66 65 76 68| 09| 74| -12
o Atel Zo| x} 102 17 171 89 61 83 89| 12| -128| -235
o EX| |kt 16 13 8 8 13 8 9| 0.1 -447] -302
o NEL | 160 170 54 128 150 238 175| 24| 94| 28
o & iz X 2|H| 28 27 16 45 27 27 29| 04| 12| 53
o M AbztE|H| 64 75 79 79 64 74 73| 10| 131| -27
0 743 AbZt| 711 691 751 751 751 751 751 102| 56| 87
o 7|EH| B 25 23 27 26 19 19 21| 03| -170] -10.3
A~ A 6,188 | 6,189 6348| 6238| 6246| 6209 6241| 846] 09| 08
A7t S| 902 w7 1769 1278 1,036 649 990 | 134| 98| 57
AHe 2oH| 99 93 117 120 113 134 124 17| 249| 331
EX| 29| 37 32 35 28 20 23 25| 03| -329| -236
st 7 7225|7251 8260 | 7663 7415] 7016] 7.380| 1000] 21| 18
F) A v ARSHlE ged(18.1.1.~1231) 713HE BY9 v 8-S Ag3S
0 2 594 (vh9)
(29): 2 9)
AP 7 2 9H(18) SLE%)
16 "7 -
- 2 500t2] 1000t2] oz
(a) (b) alar 50~69 | 70~99 ol Al © ca | cb
o &5¢l(A | 10,069 | 9,998 9,555 9,842 9,897 10,490 10,116 05| 12
- 5 Hoj 9616 | 9,588 9,159 9,297 9,420 10,062 9,661 05| 08
- A= 307 273 258 318 304 304 300 -21| 100
- Zofx|aio} 286 262 241 296 294 291 286 | 0.1 9.1
- 7| Ehoj 21 11 17 22 10 13 14| -304| 328
- J|E} ¢ 146 137 139 228 172 124 15| 61| 129
oglete|(B) | 6,188 | 6,189 6,348 6,238 6,246 6,209 6,241 09| 08
OARH|(C) | 7.225| 7,251 8,269 7,663 7,415 7,016 7380 | 2.1 18
o SAB | 3881| 3809 3,207 3,604 3,650 4,281 3875| -02| 17
omaoAC) | 2844 | 2747 1,286 2,179 2,481 3,474 2736 | -38| -04

- 20



o, ¥ 4E

0 BlS+= A4 (A 100kg?)

Ab S 2 E(18) SHE%
16 17

T = (a) (b) 1,000 | 1,000~ | 2,000~ | 3,000 g o | b
ot2|of gk 1,999 2,999 |otzlol& (o) (%)

o7t & H] 70,415 | 76,372 113,832 | 92,845| 64,880 | 60,949 | 73268 | 258 41| -441
oAb & H| | 140,671 | 146,959 | 152,611 | 149,708 | 143,699 | 142,575 | 145205 | 51.0 32| -12
o L] 3,361 3,537 4,456 4,334 4,107 3,997 4,130 15| 229| 168
o g x| Z2H] 7,780 8,437 7,451 8,576 7,870 9,860 9,015 32| 159 6.9
o At = AtH| 1,045 843 1,870 993 810 981 1,038 04| -07| 231
o5 T H 4,768 5135| 10,205 6,791 5,151 5,090 5,941 21| 246| 157
o FzAlMH| 6,170 6,468 7,183 8,100 6,100 7,465 7,328 26| 188| 133
o 7| EfM 2 H| 1,292 1,219 1,839 1,407 857 2,012 1,667 06| 20.0| 36.8
o At =0l At 2,536 2,622 2,250 2,119 2,203 3,566 2,902 1.0 144| 107
o EX|YAR 49 89 325 17 1 0 36 00| -26.5| -59.6
o IErH| 9,432 | 10,953 5,987 8,511 9,690 | 13212 | 10,933 38| 159| -02
o =X zalH| 5,954 6,748 8,301 9,108 7,996 7,001 7,735 27| 29| 146
o HakgkE|H| 1,177 1,369 1,354 1,399 1,069 1,449 1,363 05| 158| -04

o 7| EtH| & 966 1,308 789 1,056 883 1,992 1,488 05| 540| 138

2 A (A) | 255,616 | 272,059 | 318,453 | 294,964 | 255,326 | 260,149 | 272,049 | 95.6 6.4 0.0

A7t S| 5,375 5696 | 24,652 | 10,689 5,103 3,001 6,660 23| 239| 169
A= & H| 5,058 4,912 6,506 5,988 4,702 4,375 4,964 171 -19 1.1
EX|EHH| 825 1,031 1,286 904 953 801 896 0.3 8.6| -13.1

2 A B 266,874 | 283,698 | 350,897 | 312,545 | 266,084 | 268,326 | 284,569 | 100.0 6.6 0.3

FLERO) 143 50 356 37 63 239 178 24.5| 256.0
ZGH|(A-C) | 255,473 | 272,009 | 318,097 | 294,927 | 255,263 | 259,910 | 271,871 6.4 -0.1
MAH|(B-C) | 266,731 | 283,648 | 350,541 | 312,508 | 266,021 | 268,087 | 284,391 6.6 0.3
T Al S(ka) 113 113 114 113 113 114 114 0.4 0.4




O Bl&E AbsHEl (7HE9)

(a9): 2)
A A= E(18) SHE)

2 = (S (1b7) 1000 | 1000~ | 2000~ | 3000 | B @ |l |

ofz|o|2H 1,999 2,999 |ofz|o| At (c) (%)

7 & d| 79,492 | 86,415| 129,769 | 104,841 73,289 | 69,506 83,240 25.8 47 -3.7

Al & H| 158,804 | 166,284 | 173,976 | 169,050 | 162,322 | 162,592 | 164,967 51.0 3.9 -0.8

TEEE| 3,794 4,002 5,080 4,894 4,639 4 558 4,692 1.5 23.7 17.2

Htod x| 2 H 8,783 9,547 8,494 9,684 8,890 11,244 10,242 3.2 16.6 7.3

At Aty| 1,179 954 2,132 1,121 915 1,118 1,179 0.4 0.0 23.6

= T Hi 5,382 5,811 11,634 7,669 5,819 5,805 6,749 2.1 25.4 16.1

A s A|AMH| 6,966 7,319 8,188 9,147 6,391 8,513 8,326 2.6 19.5 13.8

7| EFX| 2| 1,459 1,379 2,096 1,589 968 2,294 1,894 0.6 29.8 37.3

At 20| X} 2,863 2,967 2,565 2,393 2,488 4,067 3,297 1.0 15.2 11.1

EX| A= 55 101 370 19 12 0 41 00| -255| -594

12 =H| 10,648 12,393 6,825 9,611 10,946 15,067 12,421 3.8 16.7 0.2

==X ald] 6,721 7,635 9,463 10,285 9,032 7,984 8,788 2.7 30.8 15.1

A AR H| 1,329 1,549 1,543 1,580 1,208 1,652 1,548 0.5 16.5 -0.1

7| EfH| S 1,090 1,480 900 1,192 997 2,272 1,691 0.5 55.1 14.3

2~ A 288,565 | 307,836 | 363,035 | 333,075 | 288,416 | 296,672 | 309,075 95.6 71 0.4

A7t SH| 6,067 6,446 | 28,103 12,070 5,765 3,423 7,566 2.3 24.7 17.4
AtE E | 5,709 5,558 7,417 6,762 5,312 4,989 5,639 1.7 -1.2 1.5
EX|&9| 931 1,167 1,466 1,021 1,077 914 1,018 0.3 93| -12.8

g A 301,273 | 321,006 | 400,021 | 352,928 | 300,570 | 305,998 | 323,298 | 100.0 7.3 0.7
O vlsE 94 (vHE9)
(%91: 9)
P RN ESTEION
= = (a) (o) 1,0002f2] | 1,000~ | 2,000~ [3,0000i2|| H - oo
oot 1,999 2,999 of A (c)

s A 382,972 | 406,600 | 380,185 | 371,742 | 371,997 | 370,029 | 371,698 -2.9 -8.6
- H|S==Hoj 381,403 | 405,152 | 375,941 | 369,846 | 370,579 | 368,195 | 369,696 =-3.1 -8.8
- 2A =2 161 57 406 42 71 273 202 255 254 .4
- 7Bt 1,408 1,391 3,838 1,854 1,347 1,561 1,800 27.8 29.4

2l ghd| (B) 288,565 | 307,836 | 363,035 | 333,075 | 288,416 | 296,672 | 309,075 71 0.4
o AFZH| (C) 301,273 | 321,006 | 400,021 | 352,928 | 300,570 | 305,998 | 323,298 7.3 0.7

2~ 5(AB 94,407 98,764 17,150 38,667 83,581 73,357 62,623 -33.7 -36.6

=2 (AO 81,699 85,594 | -19,836 18,814 | 71,427 64,031 48,400 -40.8 -43.5




(91: 9)
, , Ab S T 2 8(18) SHE%)
*E (S (g 20,000 20,000~ | 40000~ | 80000 | B & | Pl |
ol2jojet 39999 | 79999 |oRloId| (0 | (%)
7t = 1808 2730| 2050| 1558 1832| 1,374| 1497| 163| -17.2| -452
Ab 2 H 5825| 6051| 6138 5103 573%2| 5244 5390| 588| -75| -109
Ssgge| 128|152 186| 146|162 14 148 16| 156 -26
sreix|zul| 136|163 219|135  163| 111 126 14| -74| -227
RHS Rf| 32 25| 101 29 48 30 36| 04| 125| 440
5 7 428 505| 813  444| 615 483 518 57| 210| 26
omAlal| 136 177|459 204|148 98| 129 14| -51| -271
JlEfRf e[ 209|  285| 390| 266| 293 282| 289 32| -33| 14
A Zolxt[ 101 132 119 80| 124 78 87| 10| -139| -34.1
EX| AR 3 3 43 7 1 0 2| 00| -333| -333
ng-sH| 344 36 693|  413|  450|  369|  401| 44| 166| 111
2R 2] 49 48| 104 61 58 47 52| 06| 61| 83
ST 35 81 102 54 63 22 3| 04| -29| -580
7| ] 8 53 92 39 34 61 53 53| 06| 00| -424
2 A (A | 9377| 10805| 11456| 853 | 9750 8332| 8762| 955| -66| -189
X7} S| 397| 402| 1580|  639|  444| 178  308| 34| -224| -234
X2 g odu| 70 80| 170 88 70 63 72| 08| 29| -100
EX| gofu| 48 71 108 55 38 24 32| 04| -333| -549
st 7 (B 9892 | 11,358 | 13314| 9316| 10302| 8597 | 9174| 1000| -7.3| -19.2
BAR249)(0) 157 188|137 54 51 83 79 ~49.7 | -58.0
ZYH(A-C) | 9220 10617| 11319 8480| 9699| 8249| 8683 58| -18.2
MAMIB-C) | 9735 11,170| 13177 9262| 10251| 8514| 9,095 66| -186
Hetaarzsol)| 287  269|  269|  334| 282|312 304 58| 130




[ A=A AbsH] (1HE9)

(29 2)

Ab S 7 2 #('18) SHE%)

= 16 "17 _
T T (@) (b) 20,000 |20,000~ | 40,000~ | 80,000 £ T - oo
ot2|ol2k 39,999 | 79999 | of2lo|At (c (%)
o 7t & H| 5,198 7,352 5506 | 5,209 5,164 4,295 4556 | 163| -124| -38.0
o Al 2 H| 16,746 | 16,202 | 16,486 | 17,061 | 16,154 | 16,387 16,399 | 58.8| -2.1 0.7
o T U] 367 410 498 487 456 441 449 16| 223 9.5
o X[ ZH] 392 438 587 451 458 348 384 141 -20| -123
o A} AtH| 93 70 271 98 135 95 109 04| 172| 557
o & T Hl 1,228 1,361 2,184 | 1,484 1,731 1,510 1,575 56| 283| 157
o FsAlMH| 393 477 1,233 681 420 307 392 141 -03]| -17.8
o 7|EtM =H] 859 767 1,048 890 826 880 879 3.2 23| 146
o AtelZ Ol At 291 356 321 267 349 243 266 1.0] -86| -253
o EX|X= 9 8 116 25 4 0 7 00| -222| -125
o 1EL-ZH| 991 971 1,862 1,379 1,268 1,154 1,219 44| 230| 255
o F=xXe(d| 142 129 278 205 165 147 160 06| 127| 240
o HLheka|H] 101 219 274 182 177 69 104 0.4 3.0| -52.5
o 7|EfH|Z 154 247 104 115 171 167 161 0.6 45| -348
2~ A 26,964 | 29,097 30,768 | 28534 | 27,478 | 26,043 | 26660| 955| -1.1| -84
A7t e SH| 1,142 1,082 4243 | 2137 1,250 555 939 34| -178| -133
At=E9H| 202 215 456 295 197 196 219 0.8 8.5 1.7
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